
2x4 FRAMES
(2 REQ'D.)

1x4 END SECTION
KEEPERS (2 REQ'D)

REMOVABLE LIFT-OFF TOP

2x4X47 1/4"

2x4X47 1/4"

2x4X27 1/4"2x4X27 1/4"

13
4"

TOP=48"X32 1/4"
3/4" CD PLYWOOD

2x4X27 "
43

8"

2x4 FRAMES 3/4" CD PLYWOOD
BACK

3/4" CD PLYWOOD
EXTERIOR SIDE2x4 FRAME

3/4"
CD
PLYWOOD
EXTERIOR
BACK

5
8"

25
8"

1x4 END SECTION
KEEPERS

3/4" CD
PLYWOOD

30 5/8x42
FRONT

2x4X30"

2x4X30"

1" THICK
STYROFOAM
INSULATION

6" BRONZE
HANDLE

1" THICK STYROFOAM INSULATION

SECTION A-A

A A

PLAN VIEW
(WITHOUT TOP LID)

6" BRONZE
HANDLE

1" THICK STYROFOAM INSULATION
BETWEEN UPPER & LOWER FRAMES

REMOVABLE
END SECTION

5
8"

PLAN VIEW
(REMOVABLE LIFT-OUT  END SECTION)

PLAN VIEW

23
8"

2'-81
4"

4'-05
8"

4"(MIN.) OF SB-2
BELOW BOX

(WITHOUT TOP LID)

DATE:

CHECKED BY:

DRAWN BY:

ST
AN

DA
RD

 H
YD

RA
NT

 & 
ME

TE
R 

HO
T H

OU
SE

TI
TL

E:

JO
B 

N
O

.:

RE
VIS

IO
NS

DA
TE

:
BY

:
RE

AS
ON

:
HY

DR
AN

T H
OT

 H
OU

SE
FO

R 
HY

DR
AN

T A
ND

 M
ET

ER

RP

11-24-14

52
6 

O
AK

 S
T.

 - 
P.

O
. B

O
X

76
9

SP
R

IN
G

D
AL

E,
 A

R
. 7

27
65

-0
76

9

(4
79

)
75

1-
57

51

2
1

PL
AN

 N
O

.:
W
AT
ER
UT
IL
IT
IE
S

G
EN

ER
AL

LRS

2" METER

HEAT LAMP
(IF REQUIRED)

HYDRANT

FASTENERS
1.    2x4 FRAMES-3" LONG DECK SCREWS
2.    EXTERIOR PLYWOOD -1 1/2" LONG #8 WOOD  SCREWS
3.    INSULATION TO PLYWOOD-1 1/2" LONG #8 WOOD  SCREWS
4.    PLYWOOD TO 2x4 STIFFENERS-1 1/2" LONG #8 WOOD  SCREWS
5.    1x2 KEEPERS TO EXTERIOR PLYWOOD-1 1/2" LONG #8 WOOD  SCREWS

(SCREW TO PLYWOOD SIDES)

2" METER

SECTION THRU BOX
(WITHOUT INSULATION)

HEAT LAMP HYDRANT


